
Models of Multiplication Word Problems 
 
 
Easy Multiplication 
 
 
 
 

 
 
 

 
 
 
 
Suppose there are 3 buses 
(RED). Each of those buses 
has 4 chickens (GREEN) on it. 
How many chickens are there 
altogether (BLUE)? 

 
 
Hard Multiplication 
 
 

 

 
 
 
 
I have 4 chickens (RED).  You 
have 3 times as many chickens 
(GREEN) as I have.  How many 
chickens do you have (BLUE)? 
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Combinations 
 
 
  

 
 
 
 
 
A dog has 3 different collars 
and 4 different scarves. How 
many different outfits does 
the dog have? 

collar 1 – scarf 1 
collar 1 – scarf 2 
collar 1 – scarf 3 
collar 1 – scarf 4 
 
collar 2 – scarf 1 
collar 2 – scarf 2 
collar 2 – scarf 3 
collar 2 – scarf 4 
 
collar 3 – scarf 1 
collar 3 – scarf 2 
collar 3 – scarf 3 
collar 3 – scarf 4 

 

© Rob Madell, 2012 
 


